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M aEX0 2g2g € FEs d2d Ha NE
Ciel: AES o329 U ojFYUS =7 (choy: @2
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
23R = 1,752,086 1,723,065 29,021
SN0 232g ¥ FEs d=2d &3 NE 1,705,866 1,679,645 26,221
HEe 232 € 2F3YR =M 669,322 743,421 NT4,099
228 & ABAMY FH 329,322 418,921 89,599
101 21AH| 62,916 60,546 2,370
04 JIZtN2Z2XNSE+ 62,916 60,546 2,370
O23HA Xtgae| 283 30,915
OoJles 84,3003 x222Zx 120 22,256
Oo+g 428z S 8,659,000& 8,659
OE2SEXR¥ 32,001
oJlZ2=s 76,9003 x222« 1201 2 20,318
Oox=¢ # di2E= S 11,683,000& 11,683
201 er23 | 161,586 221,375 A\59,789
01 At2tltl 118,322 170,111 Ab1,789
O3] 9,772
O2lgsor =8 9,311,000& 9,311
O2& EHES MEHE Arell Kt= W
2,000,002 2,000
OoRM 29 ALEE 7Y
1,000,000 * 14¥ 14,000
O3/ &2IES 7Y
5,111,000& 511
ONISH BA+4E L BAR
250,000& 250
OFZINE & Xoot S 2o Azt
2,000,002 2,000
098 &4 2YSE 79
9,900,000& 9,900
O3JI3E) gz
25,0003 x16CH* 1200 4,800
O2& =A== HN 20,000,000 20,000
O2YE JIE3 M= 10,000,000& 10,000
OZHMAIZIE N2HSA =F
4,800,000 4,800
O@Es N M2t 828 NE=
4,000,000 4,000
OEIAZRA JIEH S MA
300, 000& *42H 12,600
ORI E U= 6,000
0N ©ZUS Pt DY)
6,000,000& 6,000
OEEESS: 1,950
OZLRABH S HALY
70,0002 +5% 350
OQIARIE Sl =& 100,000 x4 & *42| 1,600
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M aEX0 2g2g € FEs d2d Ha NE
Ciel: AES o329 U ojFYUS =7 (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o=l 5,100
ooiYsIE Ay 1,400,002 1,400
OR24 g 222 79
250,0003 7 H =23 3,500
OFAEEl Ma(HY) Fei= 2o
200,000 *1 200
(D=F= ]l 6,500
ooy geFM 6,500,000& 6,500
02 S3=gHl 31,264 31,264 0
OS2 A 4,850
(OF=r= o4 4,850,000 4,850
O =H| 1,440,000 1,440
OAlEEH|=XH 2,910
O22/& AL AIEEHI= X
2,910,000& 2,910
Oxtgrset] 22,064,000 22,064
03 Ar=EHI 12,000 20,000 /8,000
O3S &AL X2 5,000,000& 5,000
OESAIZEE 22 HAl
5,000,000 5,000
o1 ol 22 2,000,000& 2,000
202 04| 39,120 40,800 1,680
01 2LHoIH 15,120 16,800 /1,680
028 ge=d 7,320,000 7,320
O2FES MY HE2s8 & 88X A
ot 6,000, 0002 6,000
0T AREX (YA S
1,800,000& 1,800
03 =220 24,000 24,000 0
002 ZR2UET 23
20,000,000 20,000
02 SBEA U2 4u
4,000,000 4,000
203 =4l 7,000 7,000
03 A= PR FZ| 7,000 7,000
02 R=H 7,000,000 7,000
405 AHAHE S 58,700 64,200 A5,500
01 AL =S F=HI 54,500 60,000 15,500
O2AZS S ANRXSSHEHI(PC % 2LIH
) 20H 4,500,000 4,500
OSENHE (S8 7Y 50,000,000 50,000
02 =A=EhI 4,200 4,200 0
O2FEsE THAFY 4,200,000 4,200
olFEE ME BB 340,000 324,500 15,500
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M aEX0 2g2g € FEs d2d Ha NE
Ciel: AES o329 U ojFYUS =7 (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 331,500 316,500 15,000
01 At2teltl 307,000 292,200 14,800
O3 h| 303,000
023l E2gRFA 5,000,000& 5,000
OUMAIQS lEEs &2
150,000,000 150,000
OZHMAISIEl B4 NS &2 ZH= A 2
= 40,000,000 40,000
OZHMAIL 2 B&l 20 82
60,000,000 60,000
OUSTA=SZ(ZSLXIBM, XL XI5, XIH X2
o) 15,000,000& 15,000
OZHMAILZ A M
10,000,000& 10,000
oodas &1 BNz HE ALY ALE
s A= 500,000 1294 & 6,000
023es LINE 82 MAE 2&
4,000,000 4,000
ooelolelel =g 3,000,000& 3,000
OCl2ER A= HE AZE N ASE
3,000,000 3,000
OHMIoth 22l JI+HE M= 2,000,000 2,000
OgaFl A2 (HHE2] H22I5t= §)
- 2,000,000& 2,000
ooldegs AN & ML S M
3,000,000& 3,000
O=¢gtl 4,000
OSE gF =& 4,000,000 4,000
2 S52g4l 24,500 24,300 200
OSHEE FAZHI(Gt02t, ¥AH S)=+cl
1,500,000& 1,500
OLNEgY SEANLE FAE2+
15,600,000 15,600
OZH A2 4 SHOIXN A2+
7,400,000& 7,400
202 04| 3,500 2,500 1,000
01 SLHoIH 3,500 2,500 1,000
02382 dRFN S 3,500,000& 3,500
405 AHaHE =4 5,000 5,500 A500
01 ML ESFSHI 5,000 5,500 A500
OS4ot0let A (A=, RURIE , &2
s) 7 5,000,000& 5,000
ol odas XN&E 924,422 866,038 58,384
oldets & Zdle HI| X2 € K& 924,422 866,038 58,384
205 2|5/H| 924,422 866,038 58,384
01 & &=HI 184,800 184,800 0




A SIS
Hu: 580l o5|2Y U ANYS W24 Ust A

Chelr o 9|§§E’%‘_II% T (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O dig=d & 74|
900,000& x14H*12& 151,200
O2 XS] 200,000 x14H =122 33,600
02 234 383,462 314,313 69,149
L DS PSE- SRSy 2,282,510&*14F~ 128 383,462
03 2|&=LHOHI 10,000 30,400 220,400
O2E =04 10,000,000 10,000
04 2|3 =20l 50,000 50,000 0
02 A=Z2/ 01| 50,000
CEEEEELET I
3,500,0002 14 49,000
OXHHZE S Al g= 1,000,000 1,000
05 =2 SS3H 83,252 79,253 3,99
OX122 3 83,252,000 83,252
06 232 HRF2al| 86,000 86,000 0
02z 2,600,000« 1H*12& 31,200
OF2 1,400,000 x1& 122 16,800
O LAXE 1,000,0002 x3&* 122 36,000
O EL
1,000,000 « 122 2,000
07 SJAALNLH(SSE, ML F) 5,000 5,000 0
OXgod A w=EHl & AMMBE ZA=
5,000,000 5,000
EEEESENIGIEEED) 20,000 20,000 0
SR EN IR
20,000,000 20,000
09 I3 FIR 2y 70,000 70,000 0
O 2o 5,000,000& * 14 70,000
10 AFEAMFE=S 7,000 7,000 0
O&= Al.Z XMXIF23 AHE s FE=
7,000,000 7,000
N oA=BUASEES 9,861 8,400 1,461
OosRE=2 2,282,510% #4.5%+8Z 123 9,861
12 YE=0ALRE= 15,047 10,872 4,175
O=22A0324=3 16,047
OFar=i--t= Y=
2,282,5102%3.495%+ 142 » 122 13,402
ORIIQYEE=
79,8003 %12. 27+ 142« 128 1,645
JHEs NAS <le 328 Z& 65,900 44,000 21,900
Qs =8 ¥ 2¥Es 24 65,900 44,000 21,900
201 Ler23 | 40,700 26,000 14,700
01 At22t2lt] 36,700 22,000 14,700
O3] 13,000
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SN olElARR
Hu: 580 952y U NS A4 sl X
SRl SIAREE & 30T JIF 2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 5,910 5,910 0
OAI2EHI= Xl 5,910
IEOH S AEEHIRXL|
5,910,000& 5,910
202 04| 4,158 3,780 378
01 =LHOHI 4,158 3,780 378
O2AAN HRFH 4,158,000& 4,158
305 Hia =S 18,700 18,700
01 that=S 18,700 18,700
OLSHIEXS(AINEHE REAULS
ILERY) 18,700,000& 18,700
HY 2 FHI(2ABANR=) 46,220 43,420 2,800
[2ZHI(2AZ AR =) 46,220 43,420 2,800
J123HI(23IAR=) 46,220 43,420 2,800
202 04| 33,600 31,200 2,400
01 =LHO LI 33,600 31,200 2,400
OSE£Z0t| 100,0003 x28EH « 12 33,600
203 HR=H| 12,620 12,220 400
01 D[22 HRFa| 3,600 3,600 0
O AN2=E 3,600,000& 3,600
02 3t R F&| 2,720 2,320 400
O23 AR = 80,0003 »34H 2,720
M FA2ELRFAI 6,300 6,300 0
O3 AR= 350,000 * 122 4,200
DFSE SR k= 175,000& «12& 2,100




